ET—ADZFM

( —5‘)

0

FHREF->TLVA1I=vk

aDZEE+ bDEE)
a’ + b% =

(a + b)? . (a —b)?

2 2
MDZEE+EDZE

=2

+IEX5DOEDEH

2 2
a—b

V]
. —
VgVl 311



BET —2DEHOBMN=THEDEH + L5 DSDEE

(ZADEE)
T —2NDFEM +2l:ffo’3"50)'|‘§f|§
aDZEEI+ bDZEE) 2 — bh)? —
a2+b2=(a+2b) + zb) =2( ) +2(a2b)

MIDZEE+ZEDZEE)



V2 mA;

Y4 mA,
1ty (i y2)?
B 2 T 2

= AL DFEHMA,DEE + A, DILLDEDEE

(3t y)? (3 —ya)?

B 2 T 2

= A, DEEMA,DEEN + A, DIELDEDEE)
2 +y2)E | (rstya)? . Vi)t (V3—Ya)?

V3® + y,°

St =y’ +y2t +yst s’ = + + +

2 2 2 2
_ (V1+Y2+Y3+Y4)? n {y1+y,—(y3+y4)}* + (V1—¥2)? 4 (¥3—Y4)?
4 4 2 2

=Sm + 54 +5,¢54
BHRIZEFBIZDULNTIE
St =8m + 5 +5resn ﬁ%%

ST — Sm + SA +SB +S€




